
Answer on Question #82024 – Math – Statistics and Probability 

 

Question 

 

The wages of a group of 5000 workers were found normally distributed with mean 

of rs800 & SD of rs200. Estimate %and number of workers getting wages above 

RS 700?  

 

Solution 

Denote wages of a worker by X. 𝑋 has a normal distribution with the mean 800 and 

std 200. Find a probability of a worker to have wages above RS 700: 

𝑃(𝑋 > 700) = 𝑃 (
𝑋−800

200
>

700−800

200
) = 𝑃(𝑧 > −0.5) = 1 − 𝐹(−0.5) =

= 1 − 0.3085 = 0.6915
  

Then the percent of workers with wages above 700 is about 69.15%. The estimated 

number of workers is 

5000 ⋅ 0.6915 ≈ 3458. 

Answer: 69.15%, 3458.  
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